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4. Answers
a. Type I error because 
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 is part of the null hypothesis 
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b. Correct Decision because 
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 is part of the null hypothesis 
[image: image4.wmf]0

10

H:

m

£

.

c. Type II error because 
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 is part of the alternate hypothesis
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d. Correct Decision because 
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 is part of the alternate hypothesis
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6. The maximum probability of committing a Type I error (rejecting the null when it’s true) is , which in this case is 0.10
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2. Answers

a. True 
b. False
c. False
d. False
e. True
f. False
4. Increase
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a. 
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b. 
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c. 
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 leads to c = 984
d. 
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 leads to c = 981

e. 
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f. Solving 
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simultaneously leads to n = 89.
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